

Available at www.**Elsevier**Mathematics.com

Journal of Statistical Planning and Inference 128 (2005) 281–287 journal of statistical planning and inference

www.elsevier.com/locate/jspi

The optimal consecutive-k-out-of-n:Gline for $n \leq 2k$

A. Jalali^a, A.G. Hawkes^{a,*}, L.R. Cui^b, F.K. Hwang^c

^aEuropean Business Management School, University of Wales Swansea, Swansea SA2 8PP, UK ^bSchool of Management & Economics, Beijing Institute of Technology, South Street No. 5, Zhong Guan Cun, Haidian District, Beijing 100081, PR China ^cDepartment of Applied Mathematics, National Chiao-Tung University, Hsinchu, Taiwan, ROC

Received 30 April 2003; accepted 6 September 2003

Abstract

Two proofs for the problem in the title have been published but both are incomplete. In this note we observe the subtle errors in these proofs and give a new proof by a different approach. © 2003 Elsevier B.V. All rights reserved.

Keywords: Reliability; Consecutive systems; Optimal assignment

1. Introduction

A linear consecutive-k-out-of-n:G system, abbreviated as $con_L(k, n:G)$, is a line of n components which works if and only if some k consecutive components all work. Similarly, we can define a circular consecutive-k-out-of-n:G system, abbreviated as $con_C(k, n:G)$. Suppose we have n components with reliabilities $p_{[1]} \leq p_{[2]} \leq \cdots \leq p_{[n]}$. For easier presentation, we assume that the inequalities are strict from now on. The problem is to assign them to the n positions on the line or the cycle to maximize the reliability of the system, i.e., the probability that the system works. An optimal assignment is called *invariant* if it depends only on the ordering of the p_i , but not their actual values. For n > 2k in the linear case and n > 2k + 1 in the circular case, Kuo et al. (1990) gave an invariant assignment for k = 2 and showed that no invariant assignments exist for $k \geq 3$.

^{*} Corresponding author. Tel.: +44-1792-202336. *E-mail address:* a.g.hawkes@swan.ac.uk (A.G. Hawkes).

For $n \leq 2k$, Kuo, Zhang and Zuo gave a proof that

 $\alpha = (p_{[1]}, p_{[3]}, p_{[5]}, \dots, p_{[6]}, p_{[4]}, p_{[2]})$

is an invariant assignment for the line. For $n \leq 2k + 1$, Zuo and Kuo (1990) proved that the cyclic version of α yields an invariant assignment for the cycle. Note that the second result implies the first result by setting $p_{[1]} = 0$.

Unfortunately, both proofs are incomplete. The same kind of logical slip occurs in both proofs. In each case a claim of necessary conditions for optimal assignment is stated. To be specific, the claim for the linear case is that for the $con_1(k, 2k;G)$ system

$$(p_i - p_j)(p_{i-1} - p_{j+1}) > 0,$$

 $(p_i - p_j)(p_i - p_{j+1}) < 0 \quad \text{for } 1 < i \le k, \ j = n - i + 1.$

The claim for the circular case is

$$(p_i - p_j)(p_{i-1} - p_{j+1}) > 0$$
 for all $1 < i < j < n$.

For a given assignment L, L_{ii} is defined as the assignment obtained from L by interchanging two components i and j. The purported proof of the claim shows that if an assignment satisfies the necessary conditions, then the system reliability cannot be improved through the operation of interchanging any pair. However, such a proof merely shows that α cannot be improved through the local operation of pairwise interchange but does not compare α with assignments which cannot be obtained from α in this way.

In this note we give a proof for the linear case.

2. A proof for the linear system

Let p_i denote the reliability of the *i*th component of the line and, as usual, let $q_i = 1 - p_i$ be the probability of failure. Consider the case n = 2k and let L^* denote an optimal linear consecutive-k-out-of-2k:G line. Tong (1985) proved

Lemma 1. $p_1 \leq p_2 \leq \cdots \leq p_k$; $p_n \leq p_{n-1} \leq \cdots \leq p_{k+1}$ in L^* .

Under the proposed conditions all these may be replaced by strict inequalities. Since the reliability of a line remains unchanged if the line is reversed, we may assume $p_k < p_{k+1}$ without loss of generality. Tong noted that, for $n \leq 2k$, the reliability of the system L can be calculated from

$$R(L) = \prod_{i=1}^{k} p_i + \sum_{j=1}^{n-k} q_i \prod_{i=j+1}^{j+k} p_i = \sum_{j=1}^{n-k+1} \prod_{i=j}^{j+k-1} p_i - \sum_{j=1}^{n-k} \prod_{i=j}^{j+k} p_i,$$
(2.1)

because there can be at most one run of length at least k consecutive working components, so the system will work if all of the first k components work or the *i*th component fails and the next k all work, for any j from 1 to n - k.

All of the following results can be obtained directly from (2.1). However, some of the arguments are simplified if, instead, we make use of the following Lemma 2.

Let L_{ij} denote the line obtained from L by interchanging the *i*th and *j*th components. Let *s* be a complete specification of the states of all components, where *s* is called a *working state* if the system works given *s*. Let p(s) denote the probability of state *s*. Note that the operation L_{ij} would affect the system reliability only if the system works under exactly one of the two assignments, which implies that exactly one of the two components, *i* or *j*, works. Let S_{ij} denote the set of working states (so that the system works for all $s \in S_{ij}$) in which element *i* works element *j* fails and L_{ij} is a failed system.

Lemma 2.
$$R(L) - R(L_{ij}) = (p_i - p_j) \left(\sum_{s \in S_{ij}} \frac{p(s)}{p_i q_j} - \sum_{s \in S_{ji}} \frac{p(s)}{p_j q_i} \right).$$

Proof. For any state *s*, define a dual state s^* that is the same as *s* except that the status of components *i* and *j* have both altered. For example, if *i* works and *j* fails in *s* then *i* fails and *j* works in s^* while all other components behave the same way in s^* as they do in *s*. Now if *s* is in S_{ij} the system *L* works but L_{ij} fails while *i* works and *j* fails. But this implies that, for the state s^* , *L* will fail and L_{ij} will work. Thus

$$R(L) - R(L_{ij}) = \sum_{s \in S_{ij}} (p(s) - p(s^*)) + \sum_{s \in S_{ji}} (p(s) - p(s^*))$$

$$= \sum_{s \in S_{ij}} \frac{p(s)}{p_i q_j} (p_i q_j - q_i p_j) + \sum_{s \in S_{ji}} \frac{p(s)}{p_j q_i} (p_j q_i - q_j p_i)$$

$$= (p_i q_j - q_i p_j) \left(\sum_{s \in S_{ij}} \frac{p(s)}{p_i q_j} - \sum_{s \in S_{ji}} \frac{p(s)}{p_j q_i} \right)$$

$$= (p_i - p_j) \left(\sum_{s \in S_{ij}} \frac{p(s)}{p_i q_j} - \sum_{s \in S_{ji}} \frac{p(s)}{p_j q_i} \right). \quad \Box$$

Lemma 3. $p_1 = p_{[1]}$, $p_k = p_{[n-1]}$, $p_{k+1} = p_{[n]}$ and $p_n = p_{[2]}$ in L^* .

This means that the component with the lowest reliability should be placed first and the component with second lowest reliability last; the two most reliable components should occupy the two middle positions, with the more reliable of the two in position k + 1.

Proof of Lemma 3. By Lemma 1 and the assumption $p_k < p_{k+1}$ we obtain $p_{k+1} = p_{[n]}$.

By Lemma 2, if we interchange the two middle components,

$$0 \leq R(L^*) - R(L^*_{k,k+1}) = (p_k - p_{k+1}) \left(\prod_{i=1}^{k-1} p_i - \prod_{i=k+2}^{n} p_i \right),$$

because $S_{k,k+1}$ consists of all states for which the first k components work and the (k+1)th fails while $S_{k+1,k}$ consists of all states for which the last k components work but the kth fails.

Hence, because we assume $p_k < p_{k+1}$, we must have

$$\prod_{i=1}^{k-1} p_i \leqslant \prod_{i=k+2}^n p_i.$$

$$(2.2)$$

On the other hand, on interchanging the first and last components, we have

$$0 \leq R(L^*) - R(L_{1n}^*) = (p_1 - p_n) \left(q_{k+1} \prod_{i=2}^k p_i - q_k \prod_{i=k+1}^{n-1} p_i \right),$$
(2.3)

because S_{1n} consists of all states such that the first k components work but the (k + 1)th and the *n*th components fail, while S_{n1} consists of all states such that the last k components work and the first and the kth components fail.

The rest of the proof contains some results obtained by contradiction. Suppose first that $p_1 > p_n$: then (2.3) implies that

$$q_{k+1}\prod_{i=2}^{k} p_i \ge q_k \prod_{i=k+1}^{n-1} p_i \quad \text{which implies,}$$
$$\prod_{i=2}^{k} p_i \ge \prod_{i=k+1}^{n-1} p_i \quad \text{which further implies,}$$
$$\prod_{i=1}^{k-1} p_i \ge \prod_{i=k+2}^{n} p_i,$$

since $p_k < p_{k+1}$. The last inequality contradicts (2.2) and so the assumption $p_1 > p_n$ is false. Thus $p_1 < p_n$ and so Lemma 1 implies that $p_1 = p_{[1]}$.

Now let L' be obtained from L^* by shifting the first component to the end of the line and shifting every other component one place to the left. Then, from (2.1),

$$0 \leq R(L^*) - R(L') = \left(\prod_{i=1}^k p_i - \prod_{i=1}^{k+1} p_i\right) - \left(\prod_{i=k+2}^n p_i p_1 - \prod_{i=k+1}^n p_i p_1\right)$$
$$= q_{k+1} \prod_{i=1}^k p_i - q_{k+1} \prod_{i=k+2}^n p_i p_1,$$

as the first term in parentheses is the only term from (2.1) that occurs in $R(L^*)$ but not in R(L') while the second term in parentheses is the only term that occurs in R(L')but not in $R(L^*)$. It follows that

$$\prod_{i=2}^{k} p_i \geqslant \prod_{i=k+2}^{n} p_i.$$
(2.4)

284

Also, by interchanging the kth and (k + 2)nd components, Lemma 2 gives

$$0 \leq R(L^{*}) - R(L_{k,k+2}^{*})$$

$$= (p_{k} - p_{k+2}) \left[\left(\prod_{i=2}^{k-1} p_{i} \right) p_{k+1} + \left(\prod_{i=1}^{k-1} p_{i} \right) q_{k+1} - \left(\prod_{i=k+3}^{n} p_{i} \right) p_{k+1} \right]$$

$$= (p_{k} - p_{k+2}) \left[\left(\prod_{i=1}^{k-1} p_{i} \right) q_{k+1} + p_{k+1} \left(\frac{\prod_{i=2}^{k} p_{i}}{p_{k}} - \frac{\prod_{i=k+2}^{n} p_{i}}{p_{k+2}} \right) \right]. \quad (2.5)$$

This is because $S_{k,k+2}$ consists of states for which component k+2 fails and either all components from 2 to k+1 are good or the (k+1)th fails and the previous k are all good. $S_{k+2,k}$ consists of states for which the kth component fails and all k following components are good.

Suppose now that $p_k < p_{k+2}$: then (2.5) implies that $\prod_{i=2}^k p_i < \prod_{i=k+2}^n p_i$. This contradicts (2.4) and so $p_k > p_{k+2}$.

Finally, interchange components 2 and n and Lemma 2 gives

$$0 \leq R(L^{*}) - R(L_{2,n}^{*})$$

$$= (p_{2} - p_{n}) \left[p_{1} \left(\prod_{i=3}^{k} p_{i} \right) q_{k+1} + \left(\prod_{i=3}^{k+1} p_{i} \right) q_{k+2} - q_{k} \left(\prod_{i=k+1}^{n-1} p_{i} \right) \right]$$

$$= (p_{2} - p_{n}) \left[p_{1} \left(\prod_{i=3}^{k} p_{i} \right) q_{k+1} + p_{k+1} \left(\frac{q_{k+2} \prod_{i=2}^{k} p_{i}}{p_{2}} - \frac{q_{k} \prod_{i=k+2}^{n} p_{i}}{p_{n}} \right) \right], \qquad (2.6)$$

because S_{2n} consists of states for which component *n* fails and either the first *k* components are all good and the (k + 1)th fails or the (k + 2)th fails and the previous *k* are all good. S_{n2} consists of states for which the *k*th component fails and all *k* following components are good, while the second component fails.

Finally, suppose that $p_2 < p_n$: then (2.6) implies that $\prod_{i=2}^k p_i < \prod_{i=k+2}^n p_i$. This contradicts (2.4) and so $p_2 > p_n$. Then it follows from Lemma 1 that $p_n = p_{[2]}$.

Theorem. The unique (up to line reversing) invariant consecutive-k-out-of-n: G line for n = 2k is $\alpha = ([1], [3], [5], \dots, [6], [4], [2])$.

Proof. The theorem is trivially true for k = 1 and follows from Lemma 3 for k = 2. We prove the general case by induction on k. We now consider k > 2 and suppose the theorem is true for all k' < k.

Suppose to the contrary that $(p'_1, \ldots, p'_n) = \beta \neq \alpha$ is an optimal line. By Lemma 3, $p'_1 = p_{[1]}, p'_k = p_{[n-1]}, p'_{k+1} = p_{[n]}$ and $p'_n = p_{[2]}$. Let $F_{\alpha}, S_{\alpha}, F_{\beta}, S_{\beta}$ denote the product of reliabilities for the first or second half of α or β , respectively. From the proof of

Lemma 3, we have

$$F_{x} = \left(\prod_{i=1}^{k-1} p_{i}\right) p_{k} < p_{k+1} \left(\prod_{i=k+2}^{n} p_{i}\right) = S_{x} \text{ for } x \in \{\alpha, \beta\}, \text{ while}$$
$$F_{\alpha}S_{\alpha} = F_{\beta}S_{\beta} = \prod_{i=1}^{n} p_{i}.$$

Let σ be a sequence of components and let $t(\sigma) \equiv t_{\sigma}$ be the subsequence obtained by removing the component with the smallest reliability and the one with the greatest reliability. If β is optimal, then

$$0 \ge R(\alpha) - R(\beta) = \{q_{k+1}F_{\alpha} + p_{k+1}R(t_{\alpha})\} - \{q_{k+1}F_{\beta} + p_{k+1}R(t_{\beta})\} = q_{k+1}(F_{\alpha} - F_{\beta}) + p_{k+1}[R(t_{\alpha}) - R(t_{\beta})],$$
(2.7)

since the smallest and greatest reliabilities occur in positions 1 and k + 1 for both sequences. Moreover, either system will work if the (k + 1)th component fails and all of the first k work; the system will also work if the (k + 1)th component works and there is a sequence of at least k - 1 working components in the subsequence t_{α} (in the case of system α) or in subsequence t_{β} (in the case of system β). Note that in this circumstance the behaviour of the first component is irrelevant.

To clarify this by example, consider the case k = 3. If the fourth component is working then any sequence of at least 2 consecutive working components in the subsequence (2 3 5 6) will, together with the fourth component, form a sequence of at least 3 working components in the sequence (2 3 4 5 6), the behaviour of component 1 being irrelevant. To be specific, the consecutive working sequences (2 3), (3 5), (5 6), (2 3 5), (3 5 6) and (2 3 5 6) in the subsequence lead, respectively, to consecutive working sequences (2 3 4), (3 4 5), (4 5 6), (2 3 4 5), (3 4 5 6) and (2 3 4 5 6) in the full sequence.

By the induction hypothesis, t_{α} is the reverse of a uniquely optimal arrangement for k-1. It follows that the second term in (2.7) is strictly positive, so that the first term must be strictly negative, i.e. $F_{\alpha} < F_{\beta}$ and hence also $S_{\alpha} > S_{\beta}$. Thus we have

 $0 < F_{\alpha} < F_{\beta} < S_{\beta} < S_{\alpha} < 1.$

Consequently,

$$S_{\alpha} - S_{\beta} = S_{\alpha} - F_{\alpha} S_{\alpha} / F_{\beta} = (F_{\beta} - F_{\alpha}) S_{\alpha} / F_{\beta} > F_{\beta} - F_{\alpha}.$$

$$(2.8)$$

We can expand $R(t_{\alpha}) - R(t_{\beta})$ in (2.7) in a similar manner to the expansion of $R(\alpha) - R(\beta)$, bearing in mind that t_{α} is the reversal of the standard order. Thus

$$0 \ge R(\alpha) - R(\beta) = q_{k+1}(F_{\alpha} - F_{\beta}) + p_{k+1} \left\{ q_k \left(\prod_{i=k+2}^n p_i - \prod_{i=k+2}^n p'_i \right) + p_k[R(t(t_{\alpha})) - R(t(t_{\beta}))] \right\}$$
$$\ge q_{k+1}(F_{\alpha} - F_{\beta}) + q_k(S_{\alpha} - S_{\beta}).$$

since $t(t_{\alpha})$ is optimal for k-2 by the inductive hypothesis.

286

But $q_{k+1} < q_k$, hence $F_{\beta} - F_{\alpha} > S_{\alpha} - S_{\beta}$. This contradicts (2.8) and so β is not optimal. This is true for all $\beta \neq \alpha$ so α must be optimal. The theorem is thus true by induction, as we already know it is true for k = 1 and 2. \Box

Corollary. For $n \leq 2k$, an invariant line is ([1],[3],[5],...,B,...,[6],[4],[2]) where B is a centre block of 2k - n largest reliabilities in any permutation.

Proof. Any working state must have every component in *B* working. Therefore *B* should consist of the largest reliabilities. Furthermore, the system *L* works if and only if all components in *B* work and some n-k components consecutive in $L \setminus B$ all work.

Therefore, the components not in *B* should be arranged according to the Theorem with n' = 2k' and k' = n - k. \Box

Acknowledgements

The authors wish to thank a referee and Ms. H.W. Chang for helpful suggestions.

References

- Kuo, W., Zhang, W., Zuo, M., 1990. A consecutive-k-out-of-n:G system: the mirror image of a consecutive-k-out-of-n:F system. IEEE Trans. Rel. 39, 244–253.
- Tong, Y.L., 1985. A rearrangement inequality for the longest run with an application to network reliability. J. Appl. Probab. 22, 386–393.

Zuo, M., Kuo, W., 1990. Design and performance analysis of consecutive-k-out-of-n structure. Naval Res. Logist. 37, 203–230.